
[97] No. of printed pages: 2 
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S Y 8 A (Ill Semester) Examination 
Tuesday, 19 November 2013 

2.30 � 5.30 pm 

UA031EC003 
Economics of Population Study - Part 1 

Note: Figures to the right indicate marks. 
Total Marks: 70 

0.1 Answer in brief Any Six questions from the following. 

(1 )  Write the meaning and definition of education of population. 
(2) Write the meaning of Birth-rate 
(3) State the features of Population Censes. 
(4) Write the meaning of density of Population. 
(5) What is the Principle of Population of Malthas ? 

(6) State the Two Factors affecting Death-ratio 
(7) Explain the meaning of Natural growth of Population. 
(8) State in brief of work field of education of Population. 
(9) State the Ratio of Population growth of India. 
(1 0) What is Death-rate ? 

( 1 8) 

0.2 What is Fertility? State the Reasons of difference and responsible ( 17) 
factors affecting fertility. 

OR 
0.2 Explain the Population census and State the Importance and 

Limitations of Population Census 

0.3 Explain the Optimum Theory of Population with diagram and 
Limitations. 

OR 
0.3 State the studying of Population education Describe the causes of 

high birth-rate in India. 

0.4 Write Short Note (Any Two) 

( 1 ) The distribution of profession according to population. 
(2) The economic impacts of population growth. 
(3) The Theory of Demographic Transition. 
(4) Suggestions to improve the work of Population Census. 
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